]

0/747 573 | { Soluh'md IA'

L9037 Bk

Engineér’s Computation Pad

A d.('ﬁn'(r))
Problem 3 d - d
roblem 3) a) ITﬁ'(\c):‘:flﬁ) — 1
¥ c
ot . i
, - 2ngx 1
F(%)'»‘_f flx)e dy = _L' : ey
- oln [
|
o . i |
3 - L d “ - _‘(
_/ o 1 'waJf _/ ¢ 17,n§,\47€ -
c—‘ a .
t 24 __f
| -ransx) @ / -—izﬂﬁx/' l_e g
—i'2n ¢ -Vang ~"zZng ‘20§

‘

-

=2 428 009) _ G20y -| [t-zA»'zm)‘l __ Zﬁ'wlf“S) i

i'2ng 1'775 i"i’ls i“T‘lS
L) et ' o £ 1208 %
;ﬁm:fém & 2 glo= [ dans G e ds =)
-l -—od

4’{9’“)} = (2ng GIK) .
‘ . o 2;,;,1[71;) -
We huow fom Pact [a) Hat F{Tatn] == “F . Do

(ns
v 25:\’“1(“5) 2
] - = — :ﬂc; ‘nS -




